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Number: 7191 -/ INTERMEDIATE PART-1 (11" CLASS)

MATHEMATICS PAPER-1 GROUP-I . TIME ALLOWED: 30 Minutes
OBJECTIVE MAXIMUM MARKS: 20

Note: You have four choices for each objective type question as A, B, C and D. The cholce which you

think is correct, fill that bubble in front of that question aumber. Use marker or peo to il the bubbles.

Cutting or filling two or more bubbles will result in zero mark in that question. Aftempt as many questions as

given in objective type question paper and leave others blank. No credit will be aw arded in case BUBBLES

are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.l '
() If i= =1, then " =
(A) 1 @) -1 Q) i ) —i
(2) The symbol used 1o denoic a biconditional between two propositions is:
(A) — (B) A (€C) (D v
M For a non singular matrix A4, if AX = 8, then X =
(A) 47'B (B) BA™ ©) (4B D) (BA)"
f1 -2 3]
(4) If A=\ 0 0 11, then M, = (A)Y 13 |y 0 Q) 10 M7
4 5 2
(5)  The number of roots of polynomial 8x® — 19x* =27 =0 are; Ay2 B4 ©6 DB

(6) If s=sum of roots and p = product of roots, then quadratic equation can be written as:

(A) X rsx+p=0 (B x}-sx-p=0 QX -sx+p=0 (D)sxl—:.'x+p=0

(M ~~—-—2x2 is a fraction: (A) Proper  (B) Improper (C) 1dentity (D) Irrational
(x-3)(x+2)
(8) If a, =(-1)""". then ay = (A) 1 B -1 ) i (D) ~1i
(9)  Geometric Mean between 4i and - 161 is: (A) 8  (B)-8 (C)x8 (D) £ 64
(10)  The factorial formof n{n—-1¥(n-2)--= (me-r+1)is:
nl n!
B ® (n-1)! (© ! O —= %

(11)  When A4 and B arctwo disjoint events, then P(AUDB) =

Ea) P(4) ~ P(B)  (B) P(A) + P(B) ~ P(AN B) (C) P(A) - P(ANB) (D) P(A)+ P(B)
(12)  The statement 4" » 3" + 4 istrueif (Ayn<2 (Byn=2 (Cynz2 [Dyns2
(13)  Inthe expansionof (3 - 2x ), 5" term will be its:

(A) Last term (B) 2™ last term (C) 3" fast term (D) Middle term
(14)  The measure of angle between hands of a watch at 3 0'clock it (A) 30° (B)60° (C) 90° (D) 120°
(15)  The angle gg— — @ liesin quadrant:  (A) 1 @) 1 (C) m oy
(16) Rangeof Lhc function y = cosx is:

{A) —w<x<®™ (B) —m< y<m™ (C)-1sy=l (D) -1 x<i
(17 Ina AABC with usual notation ',I%ﬂ % (A) sin% (B) cos% (5] cbs—‘g- ) sing
(18) Areaof A4BC in terms of measure of its all sides is:
F .
(A) J—bcsina (B) M € i—.‘:asinﬁ (D) Js(s—~a)(s - b)(s-c)
2 2siny 2
(19)  Tan(Tan™ (1)) = _ -1 ®1 ©2 (D) -2

(20) Solution setof sinx = & 18

Az o SR | x 4=l
(Aw{3,3} 03){6-"6} (cn{3.3} ®) {07}
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2019 (A) Roll No:
| |
“INTERMEDIATE PART-1 (11" CLASS) MTN-T i |
MATHEMATICS PAPER-I GROUP-1 TIME ALLOWED: 2,30 Hours
__§!]B§E§;TI!§ "~ MAXIMUM MARKS: 80
NOTE;: - Write same question number and its part number on answer book,
as given in the question paper. Cj‘) (4 y—-’f
SECTION-I
2. Attempt any eight parts. 8x2=16
@) Express (2+4+73)(3+43 ) in the form of @ +bi and simplify.
(if) Find the multiplicative inverse of {(—4,7)
(it  Factorize 9g? + 16k
(iv) Define union of two sets and give an example.
vy If 4 "and B are any two sets then prove (AUBY =4'NB
(vi)  Define tautology and absurdity. :
(viiy If 4 and B arenon singular matrices then prove (AB)" =B 4™
e . . ) -2 3
(viii) Find the inverse of matrix A= 4 s
(ix) If 4 =\: . 20 " = 3‘_‘ then show that 4 is skew-hermitian.
(x}  Solvethe equation x"lé - x%’ ~6=0
(x1)  Using factor theorem show that (x — 1} is afactor of x* + 4x -5
(xiiy The sum of a positive number and its reciprocal is ‘—2-;—’ . Find the number.
3. Attempt any eight parts. §x2=16
(i) Define “Proper Rational Fraction”,
o xt +1 y f .
(ii)y  Resolve ——————= into Partial Fractions.
(x+ 1 (x-1)
(i{i) For the identity — 2+l = : + 5 + e Calculate the value of B.
{x—]){x+2){x+3) x-1 x+2 x+3
(iv)  Find the next two teyms of the sequence: 1, 3,7, 15, 31,
{v) 1f the nth term of the AP is 31, find its first three terms.
(vi) Find the 11" term of the geometric sequence: 1414, 2, -l-li— i
. 9 i
{vii) Insert two G. Ms. between | and 8.
(viii) Find the 12" term of the harmonic sequence: i}, % 16’ _———
(ix) Findthe valueof # when "&:"" 'P,=9:1
g n(3n - 1)
(x) Prove the formula for n=1 and n = 2 l+4+T+--—+(3n-2)= -——E-~
(xi)  Calculate (0.97)" by using binomial thearem.
(xii) Expand upto 4 terms: (2 - 3x)7 taking the values of x such that expansion is valid.

P.T.0.



. (2) '
4, Attempt @y nine parts. 9x2=18

6] Find 8, if £=1.5¢cm, r=25cm

(ii) Prove 2sind5° + Jz—cosec{i" o

V2

(i) Prove (tan@ + cot@)* = sec? dcosec’d

tang + tan B _ sin(a + B)

(iv)  Prove e
tang —tanf  sin(a - 8)
I:amE + cotg
) Prove S SO T secd
g ~
cot— — tan— '
2 2
iy Prove sin{ = -0 Vsin[ Z 46 |=Loos2
L4 ) 4 2

{vii) Find the period of cos2x.
(viil) Find the areaofa AABC, if b=37, ¢ =45 a =30°50

(ix) Prove R=EE
4A

3
(x) Prove rrrr = A

(xi) Prove cos(SinT'x)=l-x" -

(xii} Find the solution of secx = —2 which liein [0‘ ix ]

(xiii) Find the values of @ satisfving the equation 2sind + cos’8 —-1=0
SECTION-II
NOTE: - Attempt any three questions. > 3x10=30
5{a) Show that the set {I, 'w, w? ] when w’ =1 is an abelian group w.r.L. ordinary muitiplication. 5
- {b) Find n sothat -;-c_i-!—% may be A.M between a and b. 5
a"'+
25 -1
6.(a) Find the inverse of the matrix 4=13 4 2 by using column operation. 5
1 2 -2
(b) A dieis thrown twice. What is the probability that the sum of dots shown is 3 or 11. 5
7.(a) Find the condition that + = § may have rcots equal in magnitude but
X—-a "
opposite 1n signs. 5
. . 1 13 1.3.5 =
(b) Use binomial theorem 10 prove that 1 + — + — + == =m=y2 5
4 48 4812
8a) If cotd = % and the terminal arm of the angle is in the I quadrant, then find the value of 5
3sin 8 + 4cos B
cosfl - sind
(b) Find the value of sin18° without using table or calculator. Hint: 58 = 26 + 3¢ = 90° 5
1 1 1
9.(2) Prove that = — 5
2rR ab bc ca
il sl a1 a1
(b) Provethat Tan ﬁ + Tan g = Tan E + Tan 5 5
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OBJECTIVE MAXIMUM MARKS: 20

You have four choices for each objective type question as A, B, ¢ and D. The choice which you

< is correct, fill that bubble in front of that question number. Use marlker or pen to fill the bubbles.
ing or filling two or more bubbles will result in zero mark in that question. Attempt as many questions as
n in objective type question paper and leave others blank. No credit will be awarded in case BUBBLES

10)

(18)
(19)

(20)

qot filled. Do not salve questions an this sheet of OBJECTIVE PAPER.
o.l .

If a=>0 them {(A)2a<0 (B)-lvcﬁ (C)-a>0 (D) -a<0
a
The number of subsets of u set having 4 clements 15’ (A} 4 (B) 16 (Cy 8 (D) 10

If all the entries of a column of 8 square matrix 4 are zero then:

(A) [4}>0 @®ldl<o  (©14]=0 (D) None of these
1f A and 8B areiwo non-singular matrices then (4B} is equal
LAY AR B) B4 (C) BA (D) AR
If x! ~3=0 then sum of roots is: (A} Zero (B) 3 (Cy -3 (D) 1
Ifone rootof x* +1=0 is i then other root is: A) -1 By-i (1 (D)=l
N
A fraction - e is called Proper Rational Faction if:
D(x)
(A) Degree of N{x) < Degreeof D(x) (B} Degree of N(x}> Degree of D{x}
(C) Degree of N(x) = Degree of Dix) (D) Degree of D(x) < Degree of N(x)
For an infinite Geometric series for which | ri<l, §,= where n — o
(A) _M (B) G o) et 0y -2
l~r 1+r . ir | e

-

n
With usual notations, Zkl equal to:

-1
e+ , 1 ( \
g ALt i At © _n(n;l}‘i (D) m i )
)
How many ways 5 keys can be arranged on a circular key ring? (ay1z B 5 (O 4 (D1 3
"P equals: ! (A)"C, (B} r!x"C, (C) L‘ x "C, (D) rx"C,
i 5
In the expansion of (1 + x)", the sum of binomial coefficients is:
(A) n (B) n+1 (@ 22 (Dy 2"
W' > nt is true for integral value of n: (Ayn=3 (Byn=4 (Cyn=2 (D)a=i
The vertex of an angle in standard form is al: (AY(1.0) (B0 1) (Cy (1. 1) (D (0. I
sin(a + f) +sin(a = /) equals:
(A} 2sine cos 8 () 2cosa sin f3 (C) sing cos 3 (1)) sina
Domain of cosx funclion is: (N W (By N {(C) R {2

Circle‘: which passes through vertices of a triangle is called:
(A) Circum circle (B) Incircle {C) e-circle (D) Point circle
A &

i al to: A : g &
o is equal to (A\ya  (B)a (C) 5 9)) >

I .
2 . ¢Usin g osina
With usual notations, ——ﬂ——l——-

- equals: (A) Tan™'3  (B)YTan'2  {C) Tan™' (D) Tan™'(-1)

I
+ ian -
3

G it . 1. i
Solution of equation tanx = —= s
)
W

(A} 1 and [} quadrant (B) 1 and il quadrant  {(C) i and IV guadrant (D) [ quadrant
15(0bj)( ¥ )-2619(A)- 13000 (MULTAN)



2019 (A) Roll No:

i INTERMEDIATE PART-I (11" CLASS) MTN—1l- =19
MATHEMATICS PAPER-I GROUP-II | TIME ALLOWED: 2.30 Hours -
. SUBJECTIVE " MAXIMUM MARKS: 80

NOTE: - Write same question number and its part number on answer book,
as given in the question paper.
SECTION-I
P Attempt any eight parts. §x2=16
(1) Find the multiplicative inverse of (-4, 7)

Giy  Simplify (i)

= 3
I 1 3.
iti Simplify | =~ + —i
: (iii) plify [ 5hs }
i _ (iv)  Write down the power set of {a, {b,¢]}
: (v)  Showthat p — (g v p) istautology or not.
3 . (vi) For A={1,2,34} findtherelation {(x, y)x+y<5}in 4.
B .
(vii) State any two propetties of determinants.
4 (viii) Show that for a non-singular matrix 4, (47)™' = 4
\“_I [t 2 3x]
e (ix)  Without expansion prove that |2 3 6x|=0 -
i 3 5 Ox
El
' ! () Reduce 2x* - 3x® —x? —3x + 2 =0, into quadratic form.
(xi)  Solve the equation P rxt+rx+1=0
(xii)  Define exponential equation. - s
3. Attempt any eight parts. : 8x2=16
2
() Resolve —&m into partial fractions.
' (x+D(x-1)

(ii)y  Define improper rational fraction.
1 A B o D
) = ¥ + T+ 3
+ D (-1 x-1 x+1 (x+1)* (x+1)
Caleulate the values of 4 and D.

(iii)  For the identity
(x

(iv)  Write first four terms of the sequence a, =3n -5
(v)  Find the 13" term of the sequence x, 1, 2-x, 3 - 2%, -———~

(vi} How many terms of the series —7 + (-5) + (-3) + — —~ —amount lo 657

(vi1) Insert two G.Ms. between “2” and “16”.

'i {(viii) Write two relations between A, G, H, in which A = Arithmetic Mean, G = Geometric Mean,
H = Harmonic Mean.

(ix)  How many arrangements of the iettcrs uf the word “ATTACKED", taken all together, can be made?

1
X Prove the given formulafor n=1, 2 I+ Ve Vg e —— T =2 :[
(x)  Provetheg K+l 2 [ =
(xi) Calcutate (9.98)* by means of binomial theorem.

(xii) If x is so small that its square and higher powers can be neglected, then show that

1-x =l—~3~x

Ji+x
P.T.O.



(2)

4, Atiempt-any nine parts. 9x2=18
(i)  Prove that sec? A + cosec’4 = sec? A cosec? A where A # E-ZE. ne#
(i)  Write two fundamental identities.
(i)  Show that cot®8 + cot® @ = cosec*d - coséc’d
(iv) Provethat tan(45" + A)tan(45° - 4) =1
(v)  Express sinSx +sin7x as a product.
(vi)  Prove that S weindd = tan A
1+ cosd+cos2A
(vii) Write down domain and range of y =tanx
(viii) Find the area of the triangle ABC, given three sides a =18, b =24, c =30
(x) Showthat 7= (s-a) mn-"zi
(x) The area of triangle is 2437, If g=79,and ¢ =97, then find angle 8.
(xi) Showthat cos (Sin”'x) = /1 - x*
(xil} Solve the equation sin2x = cosx
(xiii) Define trigonometric equation. Give one example i
- SECTION-1I
NOTE: - Attempt any three questions. 3x10=30
5.(a) Show that the set { 1, -1 i -1 } is an abelian group under multiplication where % = —1 5
4 S
b If y= %x =% & -8—):3 +~———andif 0<x< -J-, then show that x = —-3-:3’—~—
3709 27 _ -’ 2 201+ y)
b+c a &°
6.(a) Provethat [c+a b b°|=(a+b+c)(a~-b)b-c)(c-a) 5
la+b ¢ cf
(b) Find the probability that the sum of dots appearing in two successive throws of
two dice is every time 7. 5
7.(a) Use synthetic division to find the values of p and ¢ if x +1 and x — 2 are the factors
of the polynomial x* ~ px* + gx 46 5
(b) If x issosmallthatits cube and higher powers can be neglected, then show that
v'll-x-szﬂsl-lx—-g-)cz 5
7 8 _ -
8.(a) Prove that 00 e0e00 ~] =tané + sech s
tan @ — secd + 1
(b) If @, B,y aretheanglesof A4BC then prove that
tan < t:amE +1anf-3- tan’ + tanl tan < = 1 5
2 2 2 2 2 2
9.(a) Provethat rn +r, +r —r=4R 5
(b) Provethat 2tan™ 3 + tan”! L al 5
3 7 4
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